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Q 1. A strip footing is to be designed to carry a gross foundation load equals 800 kN/m run at a
depth of 0.7m in a gravelly sand stratum. Appropriate shear strength parameters are ¢ = 0 and 0
= 40 degrees. Assume that the water table exists at the foundation level. The sand unit weights
above and below the water table are 17 and 20 kN/m”, respectively. Using Terzaghi bearing
capacity equation with a safety factor of three, considering shear failure only, determine the
width of the footing. (5)

Q 2. A footing 2 m square is located at a depth of 4 m in stiff clay of unit weight 21 kN/m®. The
undrained strength of clay at a depth of 4 m is given by the paramelers ¢, = 120 kPa and @, = 0.
[For FaS = 3 with respect to bearing capacity failure, determine the gross foundation vertical load
that the footing can carry using the Skempton method. (5)

Q 3. A standard plate-load test was performed with a plate of 0.3 x 0.3m at a depth of !.0m
below the ground surface in a highly cohesive soil with @ - 0. The water tabie was located at a
depth of S m below the ground surface. Failure occurred at a load of 4500 kg. The foundation
level will be located at the same depth of the test. The total unit weight of the cohesive soil above
water table y = 19 kN/m3. Using the Terzaghi general bearing capacity equation, what would be
the net ultimate bearing capacity fora 1.5 m wide continuous fooling? (5)



